Cabinet Assembly Instructions

. Install door knob using 1/4” bolt as shown.

. Install bottom plate A to underneath side of top B using 2

ea. #8-32 x 1 3/8” long screws, nuts & 1” long spacers.

. Install top B to base cabinet using (4) 1/4-20 carriage

bolts & nuts as shown.

. Remove the (4) existing rubber feet from bottom of

machine. Secure machine to top B using (4) ea. #10-
32 x 1 1/4” bolts, nuts & 5/8” long spacers. Be sure to
put the 5/8” long spacers between the bottom of the
machine and top B.

5/8” long spacers go between
cabinet and top and bottom
of machine. Remove existing
rubber feet first.

GRS

900 Overlander Road
P.O. Box 1153

Emporia, KS 66801 USA
Toll-Free: 1-800-835-3519
Phone: 620-343-1084
Fax: 620-343-9640
E-mail: grs@grstools.com
www.grstools.com

011-078



